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1 Al #F X g = WMARE a &t M o

B % % & ke 523,400 158, 300 21,600 703, 300 B % | 2 =
k= A& | R E
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( B % ]
WA 34,9001 10kg 1,512 - 1,188 — 864 —| EF diEE fth
FEIZA LA 18,120] 10kg 3,240 —| 2,430 1| 1,620 7| dimE 4o
ZIES 1,104 10kg 1,944 1,404 1,188 BE JBE
H% 56,600] 15kg 1,944 - 1,242 | 540 || K% 1t
FrY 75,2001 10kg 1,318 1 603 | 432 - HE #
EFS5NAZED 2,055] 3.6kg 3,780 3,672 3,024 kB T b
FhE 2,686 5kg 3,240 1| 2,741 1 810 1| &)l BEH i
AN 12, 757 5kg 1,944 11 1,350 1 756 —| WWE I e
b=k 12,323 dkg 2,160 || 1,620 || 1,080 =] ‘I IHE f4h
EpoY 44,798 5kg 2,160 —| 1,566 1 972 1| &E = fth
BAEA 18,120] 10kg 1,404 — 972 | 540 || dtisE fth
E—<> 8, 051 dkg 1,350 = 1,323 —| 1,296 -] &HF Hi b
MAL & 25, 285 5kg 2,268 1| 1,434 1 324 || ZE th
Fhul & 41,070 10kg 2,484 || 1,512 | 540 1] dtimE b
LY 2,972 10kg 4,590 || 2,943 || 1,296 —| ZEE HE
EL g 4,050 10kg 3,240 2,700 2,160 dtimE o
f-FEh&E 69,470] 20kg 2,700 7| 2,160 || 1,620 || dimE 4o
La R 11,100] 10kg 2,160 || 1,728 || 1,296 - K% b
ES=Yrbs 46] 500g 17,280 1| 9,982 1| 4,428 || #E
LWV 2,848] 200g 216 151 86 s
[ 8 % ]

HA 55301 10kg 2,700 || 2,376 | 648 || BEX fth
2h5 43,705 10kg 4,590 T 2,901 7| 1,620 1| &H 4t
138 5 20,160] 10kg 3,240 || 2,605 || 1,836 || SE
2k 25,189 10kg 3,240 || 2,700 || 2,160 || &S it
Ff-ra B 6,423] 7.5kg 4,320 1| 2,538 1 756 —| #EML fib
Elg 5,574] 3.5kg 4, 860 3,942 3,024 Wi K% b
EA—=x 4,454 5kg 6,588 17| 5,184 1| 3,780 7| Wi MWL
LWs < 3,743 300g 292 — 211 — 130 —| #1FL fib
BEAQY 3,013 8kg 14,040 || 4,871 1| 1,944 || &Nl #
<Y 960 10kg 9,180 || 8,302 || 3,780 || Z#W b
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